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ENGLISH VERSION

1 (a) Write rules for Determinants. 10
(b) Solve by Cramer's method : 10
I 2 3 5
——Z=6, —+==7
Xy Xy
OR
1 (a) Solve the following equations by Cramer's rules : 10

2x+3y—z=5,3x+2y+z=10, x-5y+3z=0

(b) Prove that 10

x x+2y x+4y
x x+3y x+6y|=0.
x x+4y x+8y

2 (a) Explain : 10

Square matrix, Symmetric matrix, Row matrix, Unit matrix.

2 1 -1
by If A=|1 0 =11 verify that 44~ =1. 10
1 1 2
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2 (a IHf2X-Y= ,3X =Y = , 10
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then find matrix X and Y also find 4 X —3Y.

{ I 2 2
(b) If 4 =§ 2 1 —2|and AA" = I, find value of 10
a 2 b
a and b.
3  Find limit of following : (any three) 15
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4 Find — : (any three) 15
dx

1y y= (2x2 +3)(3x2 +2)(7+x)

¥ +x+1
2 Vy=—"T"T--"
x2 —x+1

(3) y= log[ex -(5x+7)3}

4 y=
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5-11x
OR
4  Integrate the following : (any three) 15
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